33% genome of
low recombination
rate

Population

—~

c
o

Allele age (generati

+ CEU
+ CHB
- YRI

33% genome of

high recombination

rate

—~

c
(@)

Allele age (generati

(66500,3e+06] 1
(42100,66500] 1
(28600,42100]
(19900,28600] 1
(13700,19900]
(9040,13700]
(5520,9040] 1
(3130,5520] 1
(1720,3130] 1
(860,1720]
(425,860] 1
(233,425] -
(124,233] 1
(55,124]
(0,55]1

(66500,3e+06] 1
(42100,66500] 1
(28600,42100]
(19900,28600] 1
(13700,19900] 1
(9040,13700]
(5520,9040] 1
(3130,5520] 1
(1720,3130] 1
(860,1720]
(425,860] -
(233,425
(124,233]1
(55,124]1
(0,55]1

R

C>T/C>A at nonCpG  C>T/C>A at CpG C>G/T>A T>C/T>G
Sh =) =3 =
== == L=y —
== === == et
== == TR ==
==y = == ==
=2 —— == =,
===} ==, = = —

—, e e, ===
—ee o e — S
=T . *k* = — e, * D -
= '_.:** = N N * % e -
e '_’_.*** —— —.— T * % e
—. *k* —— ,_._.'_._.._._.** e~ S
L, * == —— T e
e, e —— T S
%9'0 o5 (b(p'o o @ P P o N bp'o u“'(’;’ »f’lo
Mutation Ratios
C>T/C>A at nonCpG  C>T/C>A at CpG C>G/T>A T>C/T>G
=23 e e e,
SN == ey e, TR
=2 === e A Uas *
sy e eSSy &
= e — == =28
== e — == =21
=7 e = =¥ =2
e e e = =
— o e —e 5,
et * %% n—'o_—uH ——i H:-H *%* &m_._.
—e .—o—.*** '_Eo—.’_' — et H_|-—¢—u*** %
— '_’:** n—&. —.— —eo—k k% %
= =} * %% —— —— —eo—k k% n—o:__’zu_|
L *%* I —— —e—% kK e
= e —.— —e—kkk e
R N S I R

Mutation Ratios




